
https://www.pass4itsure.com/c_brim_1909.html
2024 Latest pass4itsure C_BRIM_1909 PDF and VCE dumps Download

 

 

 

C_BRIM_1909Q&As

SAP Certified Application Associate - SAP Billing and Revenue
Innovation Management

Pass SAP C_BRIM_1909 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c_brim_1909.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

 

 

C_BRIM_1909 PDF Dumps | C_BRIM_1909 Practice Test | C_BRIM_1909 Study Guide                               1 / 3

https://www.pass4itsure.com/c_brim_1909.html
https://www.pass4itsure.com/c_brim_1909.html
https://www.pass4itsure.com/c_brim_1909.html


https://www.pass4itsure.com/c_brim_1909.html
2024 Latest pass4itsure C_BRIM_1909 PDF and VCE dumps Download

QUESTION 1

Which one of the following activities checks the work structure of a billable item for completeness? 

A. Generation of maintenance structures 

B. Generation of billable item class 

C. Activities of billable item class 

D. Activation of includes 

Correct Answer: C 

 

QUESTION 2

A customer must receive a yearly invoice. The recurring service needs to be posted on the contract account at the
beginning of each month, to meet company accounting requirements, which billing plan cycle do you assign in the order
creation process?? 

A. Monthly, at the end of the period 

B. Monthly, at the beginning of the period 

C. Yearly, at the beginning of the period 

D. Yearly, at the end of the period 

Correct Answer: B 

 

QUESTION 3

Which of the following process is triggered by an allowance group definition? 

A. Activation of allowance with contract activation 

B. Creation of allowance with subscription contract creation 

C. Expiration of allowance with contract cancellation 

D. Change of allowance with contract change 

Correct Answer: B 

 

QUESTION 4

A provider contract in SAP S/4HANA : FI-CA has no billing plan assigned, what are the possible reasons? 

Note: There are 2 correct answers to this questions. 
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A. The price condition for the recurring subscription fee is not included in the pricing procedure. 

B. The price condition for the recurring subscription fee is not maintained. 

C. The service organization has no pricing procedure assigned to it. 

D. The contract account has the wrong customer pricing procedure. 

Correct Answer: AD 

 

QUESTION 5

Which plan type do you use to model a rating logic for a service credit that is based on a quantity and a validity period? 

A. Refill plan 

B. Allowance plan 

C. Price plan 

D. Charging plan 

Correct Answer: B 
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